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Note : All questions are compulsory. Marks are allotted against 

each question. 

1. 	Write the full form of the following : 

(a) FWMR 

(b) ALIMCO 

(c) NHFDC 

(d) ADIP 

(e) AYJNIHH 

1x5=5 

2. Write the answers in one or two sentences : 2x5=10 

(a) What do you mean by "adaptive 
behaviour" ? 

(b) What do you mean by "early intervention"? 

(c) Define "Multi disability". 

(d) Enlist the High Risk Register. 

(e) What is Speech Reading ? 
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3. 	Write short notes on any four of the following : 

5x4=20 
(a) Person with Disability Act 1995 

(b) Explain the Alternative Augmentative 

Communication. 

(c) What is the difference between 'Autism' 

and 'Mental Retardation' ? 

(d) What is importance of Room Acoustics ? 

(e) Importance of Audiogram for Rehabilitation 

Programme. 

4. 	Answer elaborately on any one of the 
following : 	 1x10=10 

(a) Explain the various tools for screening and 

different assessment procedures for 

educational placement of child with hearing 

disability. 

(b) What are the main principles of Natural 

approach and Structural approach ? 

(c) Describe type of hearing aid. 
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1. 1:1 4-1 	 tc\t-f f -ft174 : 	 1x5=5 

2. 14-1 t_q d 	ziTt q1-4z4 6T1( "r -r-U4 : 	2x5=10 

(a) arffr-07 	 3117 cN I TI1:17 ? 

(b) r TRR-)-or 	31rcr ce11 TrrIT t ? 

(c) rachrilqnt' 	Liro-irfEra. -wr-T4 

(d) z-k-f-qm ct-; 

(e) 4d-r .N1 t? 
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3. 	F1J-1R1 Oci 14 A f-+-t T1T fir 	f-d-uTuft 	: 5x4=20 

(a) lamriiu1 	 3fkr171-14, 1995 

(b) ctlFc•-,-1°11 3117P1 4-GIR 	qufi ch 	 I 

(c) 	i  	-14 .N1 	t? 

(d) " 	1=ft" t iii 	t? 

(e) 1,1491,4-1 	Nay! 	 t? 

	

4. 	f f 	f 1 1ch 	fqiq-ff 371( 	: 1x10=10 

(a) 51T:4 GIIRM 'qQ 	turaTT -Rucra- 	Fa 	fim 

Ai-cr 	 srfwzrr 	qui-ff ci-; 

(b) -511tfd 	d41414-{ L&c{ *11 (-4-1* 1-11 41 4-I 	"WE fiTZT .i 

cif? 

(c) WJT 	N-wR 	qufi er). I 
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